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— XY N%OK 8707 Op2T naw HaN
However, Shabos which requires a warning, I would say, no

Overview'

The X3 explains that it is necessary for 72 to teach us the rule of 7°°n 72772 7°% 0P,
both by naw and by nnnn.” Had we just known the rule of n"2%p by nanm, we could
not have known if for n2w as well; we may have argued that the 7in> 211 by n7nmn is
more severe than by naw, since by nnmn he is 7N 217, even without a AXNT,
therefore we apply there the rule of n"2%p, however by naw, which requires a XN
for nnon 2vn, there is no n"2%p, therefore 727 taught us that even by naw we rule »n"2%p.

nvoIN asks:
- sm‘mn 4])’92‘1 2513 NNYY9A 1990 12972 7YY 0P YPIYT NN

It is astounding! For the main rule of »''2%p is written regarding murder, where
7NN is required to administer the death penalty -

An additional question:
= P9 (3,15 97 80P x33) NIND P92 2NN INNIN HINNNI NIVT NI

And furthermore, the rule of n"2%> regarding both naw and nann» were taught

in the nyawn, for in noan7 P the m1wn teaches -
- YUY 1)1V 239N IV NAYA WITHN NN PIYTAY NI

‘And when he ignites a stack of grain on naw, he is exempt from paying for the

grain, since he is liable with his life’ (he will be executed for naw %1%°n) -
= HANN NN 922V NINNNI KA N0 (x,ay pa1m0) 9990 1A 9992 NIIN 22 HHINNND

And the mwn also taught the rule of 2"2%p by nanm in 9919 12 P95, where the mwn

states, ‘if he was coming in a nann» and broke a barrel while he was tunneling in -
- M09 DT 1Y PN BN

" See ‘Overview’ to the previous omwn 7"7 ‘01

% This is s""w1 understanding for the need of the Xn12°7x for naw and nannn. See later in this Md0IN (footnote # 8).

> We derive the rule of n"2%p from the 7109 (in 23,85 [D°wown] NMnw) which states (regarding someone who hit a
pregnant woman and caused her to miscarry), W1y> w1y 1OX 777 X7 (if the woman did not die, the man should be
punished), from which we infer that w1y> X? 170K 77> oX (if the woman dies by his blow, the perpetrator will not be
punished); since he is 70> 2> for killing the woman, he is 715 from paying for the fetus, on account of n"27p.

* The person who killed the woman will not be in°» 21, unless he was first warned not to kill her.

> How can the X7n3 say that we may have thought that by naw there is no »"2%p, since the 7n°» 211 of NaW requires
787N, when the entire source of n"2%p is derived from the case of an°¥", which requires IR0

® The mwn is paraphrasing the P109 in X ,25 (2'wdwn) Nmw that if a person is killed while tunneling in a nnm», the
killer is not liable - 07 Y2 1°K; the nann»a X2 is considered a dead man - he has no blood. See TIE previous 1"7 '01n
own footnote # 2.
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If he has no blood, he is exempt’ from paying for the barrel on account of n"1%p —

Mo0IN answers:
- S05W) HY0P DIPAT INHBN RMIIY 193y NINT NN

And it appears to 501N that here the X773 is making the Xn1>°9% on the ruling

of 7121 that for a o1 payment the rule is that he is killed and he has to pay -
= 59N OY DI 2NHDT NI XPNT ONNT RXININ NN NYHDIN NINT DIVN 9‘1}32‘{? M

And this is what the Xm2°7X is saying; since its prohibition (whether naw or
nannn [as the case may be]) is more severe, so I may have thought that only
there he should be liable for the 017 payment together with the death penalty.

Moo finds support for his explanation of the xm>x:'°
- Pynywa 5991 PHoN 1505 XY 233 (9 47 12PY NI 1528 NI SNN)

And we find later that the X772 makes a Xn12°9% in this manner regarding the

two 27109 of 1BR 157 XY and NPW 575 -
- 3198 %3 152¥57 19999R M0 Nt Poiwnt

7 moon question is, how can the X3 make this Xm>*1% and say that if 727 would have only taught this rule of n"29p
either by naw, or by nannn (but not both), I would not know that n"2%p applies in the other case; but this cannot be,
since we have the two aforementioned n1awn, which teach us that n"2%p is applied both to naw and to nanmn!

¥ moon is rejecting *"w1 (see footnote # 2) and maintains there is no need for a XM for the second half of s'727
ruling that we say 1"2%p both by naw and by nanmn (since these laws are already taught in the n11wn), rather the Xm>™x
is on the first half of s'7127 ruling, namely that for a 0ip payment there is no n"2%p, and even if he is put to death
nevertheless he has to pay the o1p. The Xm3™¥ explains why 7127 had to teach us this rule (that a%wm up) both by
NN and N2aw.

? To clarify; if 721 would have stated the rule (that by 03P he is D9wm n»), only by naw, we may have thought that
since Naw MoK is so severe for it is an 07 MR, therefore only then do we sat D1p 02wm Ny, but by nnnn where it
is not an 07 MO°R he does not have to pay. The same is in the reverse, if he would just teach it by nann» we would
say only by nannn is he 0ip 02wm nn since it is a severe case for it requires no %77, but nNaw, since it is not that
severe, for it requires 781N77, we would think that he is not 03p own nin. Therefore, to avoid this mistake 7127 taught
us this ruling that 01p 22wn N, both by naw and by nanma.

1% Seemingly logic would dictate the opposite of what moon is suggesting; meaning that the stricter the death
penally, the less reason to have him pay. The idea of n"2%p is that if he is receiving a harsher punishment there is no
reason to give him a lesser punishment. Therefore, the more severe the death penally, the less reason to pay the 01p.
However, the manner in which m591n explained the X3 (see footnote # 9), the opposite is true; the harsher the
punishment, the more reason to pay the 01p. Therefore, N1501n brings proof to his contention.

' See footnote # 3. We derive n"2%p from this »109; only one punishment of 7in*» but no monetary payment.

1290 (xxn) om27. We derive from this 2109, which is written in the singular 1\nyw"; that he is only punished once,
but not twice.

13 The xm3 there explains that from 7oR 797 X7 we derive there is no 111 70, and from YW 75 (which is written
by mpon) we derive that there is no 7wm1 Mpon. The X3 there makes a XM3*7% why we need both mwA17.

'* The xm3 there said if we would only know the rule from nywA >73 by mpm 1mn we would say that since npon is
not a severe MoK therefore we do not make him receive both punishments; np%» and 1%n, but in a case of 70
which is a severe Mo’k we may have thought that he will receive both punishments 7n°» and 171, therefore we also
need the 709 of NoX 771> K71 that even by " we also rule 1"2%p and there are no monetary payments.
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That because 7n°» is stringent we may have said that we should give him
both' punishments; 0> and 7.

MooIn asks on his explanation:
- 21N T 2297 NIYN 1297 CndwreaT annY nup Yax

However, there is a difficulty, according to what I explained previously that

727 made his ruling (that »n"2%p is not applicable by 01p) only according to »''1 -
- ©YYM O KXY NIIN ANIND NOYAT NAY YaN MNP 9950 )5 ON

Therefore, how can the X773 state that if 727 would teach us his ruling only by
nannn (that he is a%wm nn) we would think that by naw however, where a X057

is required, I may assume that he is not both killed and also required to pay -
- 35595 NI DAY 533 NN 5297 NINYN TPIY N

But the main teaching of »''1 that there is no n"2%p by 017 was taught in a Xn»=2
previously regarding naw!"

MooIn reconsiders, and that the XN12°7¥ may be on the latter part of s'727 ruling:
= 11939 N2972 1YY 0P THOUT IIMNYN N7 912919Y 139819

And it is possible to say that 1721 is teaching us that »''2%p is applicable -
- 205391 12973 799 DD 19919 )9 M0 XY Py ann 19919 ZannnnT nywaT 23 Yy 9

Even in a case where at the time where he was liable for the death penalty, the
money was still in existence, where one may have assumed that we should not

utilize »''2%p, since he can just return the money (item) as is -
= (0w x,ay PATMIY) 990 12 P92 N9 NI 9INTI

As 129 himself states in 9919 32 9D -

'> We see from that X3 that there is such a logic that if it is a more severe MX we do not apply »"29p, just as
mooIn suggested here in our XN1>™X.

16 %7 7"7 'O on this Ty (TIE footnote # 1).

"1t is only »"7 who maintains 02w n» by 03p.

18 On 2,32 07 the Xn>2 states that "7 maintains that if one stole and was nawa 12w he is 21 in M '7 " Ww>n. How can
the X3 say here that if 737 (who is following the view of »"1) taught only that by nannn there is no n"2%p, we
would not know naw, when naw was explicitly taught in the 8012 that by 031p there is no n"2%p according to n"?!

' This question is only according to '01n71 "2 that the Xm2™x was regarding the first half of s7127 statement that there
is no n"2%p by 01p. However according to *"w19 that the Xm>>¥ is regarding the second half of s'727 statement (that
there is n"2%p by nawy nnnn), there is no difficulty. See footnote # 8.

0 He is w12 2nn by naw when he steals the animal and takes it out from the "7 of the owner into the 7"717. The
same is by n1nnn when he is tunneling, he is 1512 2110 the whole time while he is stealing the animal.

I See footnote # 20. At the time he was w511 2nnn (both by naw and by nnmn) the animal is still here (and it is
still legally in the N of the owner, until the 7r2v).

2 At that point (when the 721 is 1¥2), we are not obligating the thief to pay anything back, rather the owner is
taking back his animal which belongs to him; there is no punishment here. It would not be logical to say that since
the thief is being killed, the owner is not entitled to take back his animal which belongs solely to him.
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- x5 PymamdNT 503 YA 1790997 920w WA 2297 1909 NYANDM N2 NN
‘r1an stated, the ruling of 29 is understood in a case where he broke the vessels
so they are not around, however if he took the vessels, where they still exist, the

ruling of 27 does not apply’, but rather the thief must return it -
- 12330 9¥ 10951 13 9NNR NAVT 13 991 199N

Nevertheless, since he was n2auv afterwards, so he is exempt from paying for the

stealing, since now it is no longer in existence -
:NDIY Pay YA N AYY NMINAT 22 5Y IR NAIR NMVT TRANY

And it is regarding this novel ruling of 727 that he is exempt from paying for the
;72%13 that the X773 makes the Rn> .

Summary
The Xm>™ ¥ is either a) (°"w") that we say »2"2%p by naw and nannn, b) that we say nn

o>wn by both, ¢) that we say n"2%p by both even if the 7%9°13 was 1°v2 by the 2vrn
annA.

Thinking it over
nvon explains the novelty of 77127 is that even though that at the time he was 2>1n»

w513, the 712713 was still 1°v3, and the victim/owner would have the right to retrieve
his animal (even though the 213 will be put to death), nevertheless since now nyw21
772 7ova the animal exists no longer the 213 is "wd on account of n"1%p.”
However there seems to be no great w1717 in this ruling, since now the animal is not
1v32, and the 213 1s 0 2711, how can we hold him liable and make him pay (from

21 ruled there that if the nInAMa X2 took vessels he is Mo from paying since he is w13 2 mn.

** See footnote # 22.

 Therefore, without the ruling of 721 we would have thought that »"2%7 would not apply in these two cases of naw
or nN1nmn, since the 72°1 was Pya when the thief was w911 2»nnn. Therefore, 7127 teaches us a novelty that
nevertheless the rule of »"2%p does apply as MpoIN continues to explain.

% See footnote # 25. See “Thinking it over’.

7 mooin will now explain that according to this interpretation, the initial question which mao1n had on >"w12 (see
footnote # 7), no longer exists.

*% The x7n3 stated that if 727 would have said this w17n by either n2w or nann» (that »"2%p is applicable even if the
stolen item was 7"¥2 when he was w512 2»nnn [as long as he was 112v later]), we could not derive the other from it
(because one is stricter than the other). We cannot ask that we would have known it from the n11wn (see footnote # 7
& 27), because those n11wn are in cases where the item was not Pva when he was w321 2»nnn (he was nR o1
W 77 on Naw, or 0°2371 IR 12w by n1nnn), therefore it is understood that he is Mwd, but the w17°n of 727 is that he is
709 even when the item is 1v2 (as long as it is not v2 later 172 77A¥7 NYWI).

¥ See (text by) footnote # 26.

% He was 1in"» 2rinn the entire time including when he was 72m mav.
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his own assets for the animal, when he is being put to death?! It is the classic case
of n"25p!!
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